FUNCTION

MID-SHIP TURN SIGNAL;
SIDE MARKER

SPECIFICATION

CATI3"E (J914, J2039);
FMVSS/SAE "P2", "P3" (J592, J2042)

% TecNlig Ine

MOUNTING GROMMET (T60-0G00-1)
CONNECTOR PL-3 (T199-0020-1)
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245 M

POLYCARBONATE LENS;
MATERIALS KBS BACK

YTecNiq.

gL e Sy ot Lighd

T190-ACGT-1 CLEAR
T90-AAGT-1 AMBER
MID-SHIP TURN SIGNAL



]
b N
(N
L :
T 0.42
f

—TIT

FUNCTION

MID-SHIP TURN SIGNAL;
SIDE MARKER

SPECIFICATION

CATI3"E (J914, J2039);
FMVSS/SAE "P2", "P3" (J592, J2042)

% TecNlig Ine

5288
"©>

MOUNTING GROMMET (T60-0G00-1)
CONNECTOR AMP (T99-0040-1)
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245LM

POLYCARBONATE LENS;
MATERIALS B BACK

QUAL ENG

3

YTecNiq.

gL e Sy ot Lighd

T190-ACGA-1 CLEAR
T90-AAGA-1 AMBER
MID-SHIP TURN SIGNAL

SCALE 1:2 2
2 1



\ INO&d

: 4
WHT GND
BLK TAIL

RED TURN

I
b N
RN 1
| L
1] 0.4

+

FUNCTION

MID-SHIP TURN SIGNAL;
SIDE MARKER

SPECIFICATION

CATI3"E (J914, J2039);
FMVSS/SAE "P2", "P3" (J592, J2042)

MOUNTING GROMMET (T60-0G00-1)
CONNECTOR PIGTAIL (9", 18AWG)
VOLTAGE 9-14VDC
CURRENT AT V! 0.26-0.34A
LUMENS 245 M

POLYCARBONATE LENS;
MATERIALS ABS BACE

¥ Teclg Ine

QUAL ENG

3

YTecNiq.

gL e Sy ot Lighd

T190-ACGP-1 CLEAR
T90-AAGP-1 AMBER
MID-SHIP TURN SIGNAL

SCALE 4:2 CAD FILE: sHeer 3 oF 9

2 1



2 X 0.22
()
T
2 2
S =~
MID-SHIP TURN SIGNAL: % Oh| - o
FUNCTION SIDE MARKER g — O
CATI3"E (J914, J2039); 5
SPECIFICATION| £ 1vss/SAE "P2". "P3" (1593, J2042]
MOUNTING FLANGE: 2x #10 SCREWS
CONNECTOR PL-3 (T99-0020-1)
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245LM e .
MATERIALS POLYCARBONATE LENS: "Iﬁfﬂﬁ"
ABS BACK

T90-ACFT-1 CLEAR
T90-AAFT-1 AMBER
MID-SHIP TURN SIGNAL

SIZE | pwe REV.

A NO. A
SCALE 4:2 CAD FILE: sHeer 4 oF 9
3 2 1



@)

2X ©0.22

FUNCTION

MID-SHIP TURN SIGNAL;
SIDE MARKER

SPECIFICATION

CATI3"E (J914, J2039);
FMVSS/SAE "P2", "P3" (J592, J2042)

¥ TecNig Inc

MOUNTING FLANGE; 2x #10 SCREWS
CONNECTOR AMP (T99-0040-1)
VOLTAGE 9-14VDC
CURRENT AT V! 0.26-0.34A
LUMENS 245 M

POLYCARBONATE LENS;
MATERIALS B BACK

YTecNiq.

gL e Sy ot Lighd

T90-ACFA-1 CLEAR
T90-AAFA-1 AMBER
MID-SHIP TURN SIGNAL

SIZE REV.

los)



%

(=N | >
2
|

|| 'I M

‘ 7
MID-SHIP TURN SIGNAL: i
FUNCTION SIDE MARKER % TH
CATI3'E (J914, 12039) | o —) - o
SPECIFICATION|  FMvsS/SAE "P2", "P3" (593, J2042] g O
MOUNTING FLANGE: 2x #10 SCREWS
CONNECTOR PIGTAIL (9", ISBAWG)
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245LM o .
MATERIALS POLYCARBONATE LENS; - Iﬁfﬂfﬁh-
ABS BACK

T190-ACFP-1 CLEAR
T90-AAFP-1 AMBER
MID-SHIP TURN SIGNAL



7.55
A
\.l/
(/) |
3.29  [&{ @Eg >'4 2.75
‘i ) J
\l‘ \INUEH ~N——— /
K <& /
4X $0.19
7.00
—
N ?
TN m
1.48 |
== i1 =
|
q 0.86
% 5
/) : : )
LI ~\ |
MID-SHIP TURN SIGNAL; ©F©, .
CATI3"E (J914, J2039); ‘ ; ’
SPECIFICATION| £\ qvss/SAE "P2", "P3" 1592, J2047)] =
MOUNTING SURFACE: 4x #10 SCREWS
CONNECTOR PL-3 (T99-0020-1)
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245LM v .
MATERIALS POLYCARBONATE LENS; - Iﬁfﬂfﬁh-
ABS BACK

T90-ACST-1 CLEAR
T90-AAST-1 AMBER
MID-SHIP TURN SIGNAL



8 7 6 5 4 3 2 1
7.55
A
\i,l
(7* (mont {
3.29 %@Eg )l%% 275
\_\; \mﬂ ~— / J
\ <& /
;00 \ 4X $0.19
SE—
S
a2~ ]Lg l
= 1 =
|
{] ]
* 5
’ % g25% ‘
MID-SHIP TURN SIGNAL; &) -
CATI3"E (J914, J2039); ‘ . ’
SPECIFICATION| £\ 1vss/SAE "P2". "P3" (592, J2042)] =
MOUNTING SURFACE; 4x #10 SCREWS
CONNECTOR AMP (T99-0040-1)
VOLTAGE 9-14VDC
CURRENT AT 'V' 0.26-0.34A
LUMENS 245LM = .
POLYCARBONATE LENS:; "Iﬁfﬂﬁ"
MATERIALS ABS BACK
T90-ACSA-1 CLEAR
T90-AASA-1 AMBER
MID-SHIP TURN SIGNAL
8 7 6 5 DO NOT:CALE DRAWING 3 2 ]



[— 48

L |

YTecNiq.

gL e Sy ot Lighd

e i ~
T ]
O
MID-SHIP TURN SIGNAL: —
FUNCTION SIDE MARKER § FH
CATI3'E (J914, J2039):| [o @
SPECIFICATION| e\ avss/SAE "P2", "P3" (U592, J2042] 2 -
MOUNTING SURFACE; 4x #10 SCREWS o
CONNECTOR PIGTAIL (9", IBAWG) >
VOLTAGE 9-14VDC
CURRENT AT V' 0.26-0.34A
LUMENS 245LM
POLYCARBONATE LENS:
MATERIALS 'ABS BACK

QUAL ENG

3

T90-ACSP-1 CLEAR
T90-AASP-1 AMBER
MID-SHIP TURN SIGNAL



	T90-AXGT-1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	T90-AXGA-1
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8

	T90-AXGP-1
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12

	T90-AXFT-1
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24

	T90-AXFA-1
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28

	T90-AXFP-1
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	T90-AXST-1
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44

	T90-AXSA-1
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40

	T90-AXSP-1
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36


